
Math 3339 Name:

HW #10

(1) In a regression problem with n = 10 pairs (xi, yi), we find that
∑
xi =

15,
∑
yi = 20,

∑
xiyi = 33,

∑
x2i = 31.5,

∑
y2i = 49.

Find the linear regression model of the data.

(2) The attendance at a racetrack (x) and the amount that was bet (y)
over 10 days is given in the following table

Attendance (hundreds) 117 128 122 119 131 135 125 120 130 127
Amount bet (millions) 2.07 2.80 3.14 2.26 3.40 3.89 2.93 2.66 3.33 3.54

(a) Make a scatter plot of y against x

(b) Compute a linear regression model to the data.

(c) Compute the coefficient of determination.

(d) Find a 95% confidence interval for the parameters of the regression model
β0 and β1.

(e) Test the hypothesis H0 : β1 = 0 against H1 : β1 6= 0.

(f) Plot the residuals.

(g) Calculate the prediction of a next observation y and x = 150, including
the prediction interval.

(3) Show that the fitted regression line ŷ = β̂0 + β̂1x goes through the
point of coordinates (x̄, ȳ).


